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(B) (WA LFEBEYIHERT HHED LA EDES(m) (F) EN LB RS 588 DL EE DR Em) %%*@(Df%tzfgg,?23'%?“%%%3_“;*@%% Fr7EHh HEH 2 LET
(C) BB LB AAM00kN/mi LT O K DI BID 1 DB AEKN/ ni) (G) HEFEB A3 LT DRI D HFED DB AEKRN/m) EMBEEIHEEHRRLBEBHRIRHALR
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(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) () (D) (E) (F) (G) (H)
(1) 1271 1.0 99.5 1.0 20.2 4.0 15.1 3.0 125.7 1.0 98.3 1.0 20.2 40 14.2 2.8
(2) - - 89.0 1.0 20.2 4.0 15.1 3.0 - - 89.0 1.0 20.2 4.0 14.9 29
( 3) 1135 1.0 100.0 1.0 16.1 3.2 15.1 3.0 1125 1.0 96.9 1.0 16.1 3.2 149 29
( 4) 1135 1.0 100.0 1.0 - - 11.0 2.2 1125 1.0 96.9 1.0 - - 11.0 2.2
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